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COOCH BEHAR PANCHANAN BARMA UNIVERSITY 

B.A. Honours 3rd Semester Examinations, 2021, held in 2022 

SANSKRIT 

HISTORY OF CLASSICAL SANSKRIT LITERATURE 

CORE-5 

Time Allotted: 2 Hours  Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable.  

 Answer any two questions 

};ks% iz”u;ks mÙkja izns;e~ 

(U;wur ,dL;ksÙkja laLÑrHkk’k;k nsoukxjhfyI;ka p ys[kuh;e~) 

20×2 = 40

1. Hkkjrh;-lkfgR;s laLÑrkS p egkHkkjrL; izHkkoekyksp;rA 

  

2. laLÑr dFkk lkfgR;L; ifjp;% izns;%A 

  

3. laLÑr lkfgR;s HkoHkwrs% vonkua fu:I;rke~A 

  

 ——×—— 
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY 

B.A. Honours 3rd Semester Examinations, 2021, held in 2022 

SANSKRIT 

INDIAN SOCIAL INSTITUTION  

CORE-6 

Time Allotted: 2 Hours  Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable.  

 Answer any two questions 

iz};a lek/ks;e~ (laLÑrHkk’k;k nsoukxjhfyI;kap ys[kuh;e~) 

20×2 = 40

1.  euqlafgrk;k% f}rh;k/;keuqlR̀; vkpj.kfof/k-fo’k;s ukfrnh?kZ% dfr~ izcU/k% fy[;rke~A 

  

2. dLrkor~ laLdkj% \ prq.kkZa o.kkZuka Ñrs euqfofgrkuka laLdkjk.kka fooj.ka nh;rke~A 

  

3. fda rkor~ L=h/kue~ \ ;kKoYD;erkuqlkje~ vkyksP;rke~A 

  
 

——×—— 
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SANSKRIT 

SANSKRIT GRAMMAR 

CORE-7 

Time Allotted: 2 Hours  Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable.  

 Answer any two questions 

};ks% iz”u;ks% mÙkja izns;e~ 

(laLÑrHkk’k;k nsoukxjhfyI;ka p ys[kuh;e~) 

20×2 = 40

1. };ks% lw=O;k[;k dj.kh;k & 10×2 = 20

 vkns”kizR;;;ks%] lqfi p] uiqaldkPpA 

  

2. };ks% lw=O;k[;k dj.kh;k & 10×2 = 20

 rnL;kLR;fLefUufr erqi~] rO;ÙkR;kuh;j%] dkyle;osyklqrqequ~A 

  

3. };ks% inlk/kue~ dj.kh;e~ & 10×2 = 20

 jkeS%] jeklq] Kkukfu] dk;Ze~] Hkxoku~A 

  

 ——×—— 

 


